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Answers to Student Book text questions





page 185


1    a   4.0g dm–3


b   0.1 mol dm–3





2    0.0978 mol dm–3. About 1%.





3    Burette and pipette readings are to the nearest 0.05 cm3. Accuracy is often limited


by the skill of the experimenter, eg detecting end points, swirling the liquid during mixing.





page 187





1    The ease of decomposition of nitrates and carbonates increases down the group.





2    2KNO3(s) ➔ 2KNO2(s) + O2(g)


2Ca(NO3)2(s) ➔ 2CaO(s) + 4NO2(g) + O2(g) SrCO3(s) ➔ SrO(s) + CO2(g)





page 191


1    Cu2+(aq) + 4I–(aq) ➔ 2CuI(s) + I2(s)


Copper reduced from oxidation number +2 to +1 (reduction) and oxidation number


of iodine increased from –1 to 0 (oxidation).





2    If the solution is not neutralised the acid reacts with sodium thiosulfate solution.





3    Zinc nitrate does not react with potassium iodide.





page 193





1    Using dilute hydrochloric acid is adding a chloride so the test will always give a positive result.





2    Sodium chloride gives steamy colourless fumes but sodium bromide will produce


brown fumes of bromine.





page 195





1    The benefit of chlorine is obvious – prevention of bacterial contamination, giving us access to clean drinking water. Aside from the evidence of negative effects, the use of fluoride to improve dental health is arguably unnecessary as we can get fluoride from toothpaste, etc.


Any other valid points.





2    Look for well referenced material, and logical arguments and conclusions which can


be drawn from the evidence presented.
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